Zakwan, Unayz, Zacky, Hakima, Iqra, Mahdiya, Inayah G
Hexagons Maths Challenge
These are optional challenges for you to try. I will email the answers to your parents later on in the week. Good luck! 
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Challenge 4

The perimater of this regulor hexagon s 42 cm.

Four of these hexagons are put together to make this shape.

What s the perimeter of the shape?
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Challenge 5

Charlie hos a in of paint.

‘The tin is half full and weighs 5.8 kg. Charlie paints o
wallin his house.

The tin s now a quarter full and weighs 3.1 ko.

How much does the empty tin weigh?

€
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Challenge 6

Aspinner hos 5 equel sections. The
sections are lobelled Ato £.

The orrow is pointing to the centre of section A.

Tom rotates the arrow clockwise 50 that the arrow is now pointing to the centre
of section D.

Whot angle has the arrow been rotated thraugh?




